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QUESTION 1

A customer has a VSP G800 storage system with an HDT pool with internal SAS drives and a virtualized third-party
array using SATA RAID 6. The virtualized array is connected to the VSP G800 using four 8 Gbps FC paths. The
customer reports performance problems on an OLTP application deployed on a virtualized server using the HDT pool. 

What are two reasons for this problem? (Choose two.) 

A. The workload includes significant random writes to SATA over RAID 6. 

B. The tier relocation is not assisting the OLTP application. 

C. The size of Tier 1 is not sufficient to accumulate all of the hot pages. 

D. The speed of the FC links is insufficient. 

Correct Answer: AD 

 

QUESTION 2

A VSP G800 HDT pool contains FMDs, NL-SAS drives, external storage with 15K 600 GB SAS drives, and external
storage with 10K 900 GB SAS drives. 

Which tier level contains the NL-SAS drives in this configuration? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: A 

 

QUESTION 3

A mission critical SQL server application that resides in a three-tier HDT pool is showing response time spikes that may
be related to I/O activity. 

Which three Hitachi Tuning Manager reports would you use to determine the problem? (Choose three.) 

A. IOPS by dataset. 

B. IOPS by V-Vol 

C. IOPS by pool 

D. IOPS by tier 

E. IOPS by parity group 
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Correct Answer: CDE 

 

QUESTION 4

What are two benefits of placing transaction log files on RAID 1+0 disks for Microsoft SQL Server databases rather than
RAID 5 disks? (Choose two.) 

A. Multiple transaction log files are supported. 

B. Faster recovery after disk hardware failure is realized. 

C. Capacity utilization rates are improved. 

D. Microsoft recommendations are followed. 

Correct Answer: AB 

 

QUESTION 5

You are designing a VSP G1000 solution for a customer and you need to determine the appropriate disk type and RAID
level. 

What information do you need to design the solution? (Choose three.) 

A. type of workloads 

B. workloads read-write ratio 

C. operating systems used in the environment 

D. fan-in and fan-out ratios 

E. expected I/O rates 

Correct Answer: ABE 
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